Efficiency vs dr

x 0.02p

g b
9.018f -
B.016f -
& E
®.014fF -+
t L
D.012f -+
0.0l
0.008F
0.006f
0.004f
0.002
e

Ratio

—— DQM_V0

—— DQM_V0001_R000000001__Global_CMSSW_CKit502_RECO
1.2fF-| —— DQM_V0001_R000000001__Global__CMSSW_mktt502_RECO
001_R000000001__Global

-4 -

11
IIIEIII .

[ Efficiency vs dr (track,jet) |

) 1
TP min AR

§0.01
00.009
=
%).008
9.007
>
#.006
[©]
35=0.005
)
0.004
0.003
0.002
0.001

+Q
1.2

Ratio

1.1

1_

1072

=
S
w

Efficiency vs pu

-1

1
AR(TP, jét)

5 0.0

0.002

2 T
L RS R

DEE——

Q . .
O R R
= : : : :
0.006f- -+ wpereeneieens e

.................

.................

0,008+ i wreoeire e
R S A SRS
Ok e IS AR SRR

.................

R AR T S5

o 10— S| ]
§ 1.2 :— ------------ - -n-én— L 5- -------
1.12— """" SRR R £ IR0 & O S8 N SRR s
1;— ------- ;- EEEEL ) -;n—cr -+ - - ;— -------
20 30 40 50 0 70 80

CMSSW_mkitt50i3_RECO



	Contents
	Page 1


